1
¢

—

T Al Ml &0 A

F

AN HIEZLEHE o

iy

3

2) A2 252 (Cockayne syndrome)

Cia 225 0|18

oM CHe

3

ot

St7| o 2F

Yl 2ol AALE 0] A2t

—_—
1jo

17t

I

S
=

ol 2|0 =

f

5}

[EFLES ZA] QJALOf7] &1

™
a

12

1fe}

Aol = &0

o)
0|0

2. Cf

4hS 2t

1) O] & &= O|D|CHE 5=4|0f] 2t

of!
Nlo
70
0

_2._
ol

-

o0

3711 oJLh2

<
o0

4)

oAU 25 o|Y L ET|HE =

J|J

of

A1of|A O]

t

o)
__o._

040

t

ol

W
il

o
&



Sk71A

4

1)

|.

O LtEt

Et
=

FA|

2| 4Fol Ligt

T

mo

A
_Z._

_z_l
i

=)

=_0=
1o

UCE.

| AI2HOl7} e 4 9

Z0
i
Ol

CiCct

Al, ZAIEEE2 LA

B
1o

<n
oy

A

(l):l )(KDF A

20|
1 =

Ol &0 Al H7|

Ql
=

2) B2 24A12HOLol| 2 g

OfLt 7| A

_i

S
(]

o
ET'__

AHOf| A Zre{F0{OF BTt

t

O] A28 = 0|28t SHOf LtEtL

(]

4

[S)

ofe] 9|

b2

4

=
=

3) O 2fOf At



ZeCt g

6) O] ofo| &0 A| I

ol
o0

oju

0o
__O._

<0

0
__o_l

MA| Z2EZLGIAIZHPT/INR)S

E[RACH 25 O|Lijof| C|Em|E

5) L EQI0|Lt H| =B} =8| &2 O] 2F2| A|A

o Afo|22Am2l EfT

o] of

)

7

ot

|E (Torsade de pointes)0]| Cie

(0]
[

125 E5| EEAIEE X

0 QT HY0| En&|AUCE

=3
=

off
PN

g =0

=
=

H HEZ LT

b

S
[=]

[
= =

|O|
A

A0

ts

21
=

HYAI

&0

I_

S
—

of| CH

od
T

F0I5t2| 220,

=
—

E|0] AX| 222, Y4 370 O|Lie] YF0f|A|

ol

JES 2RE O[HL 22 22

M

2) o] ofe]

8. UHFOAIS] 22|



10. 7|Et

OlM= SHHO} LIEIR 2L

o)

S
=]

B A

o)

Al



